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SAMPLE PAPER 6: PAPER 1

QUESTION 4 (25 MARKS)

Question 4 (a) Question 4 (b)
Xiy=3:2= x_3 V', = Volume of small bucket
y 2 V., = Volume of large bucket
=y W 3, _ V. _8_4
278 V6 3
x—y=28
3y—2y=16
y=16
_349) _ 24
2
Question 4 (¢)
(x+a)(x+b)(x+c)
= (x+a)(x* +bx +cx + bc)
=X +bx’ +cx’ +bex + ax® + abx + acx + abc
=X’ +(a+b+c)x* +(ab+ac+bc)+abc
Question 4 (c¢) (i) Question 4 (c¢) (ii)
(x+D(x+2)(x+3) (x—D(x=5)(x+7)
=X +(1+2+3)x* +(2+3+6)x+6 =X +(=1-5+7)x* +(5-7-35)x+35
=X +6x> +11x+6 =x +x*=37x+35




